MATHEMATICS: SUBSTITUTIONS DEMO (D-5)
CHALLENGE

Name:

Time: Score:

H7) Simplify algebraic expression
(0 x (=3x) 4+ (102 + 7z + 30y ~ (=3))) — (72 — (—6x))) =

a) Solveforz=5,2=3,y=3
b) Solvefor z =4, =0,y =3
¢) Solvefor z=10,x=1,y=9

H8) Simplify algebraic expression

(2 + (=32) — (—=10)) x (T+ (=5) = 5—6) — 9 =

a) Solvefor z =6,z =0
b) Solve for z =8, x =4
¢) Solve for z=6,x =25

59) Simplify algebraic expression
(lz+(=7) 4+ (=3y) = (((72+(=8)) +=3)+0) — 5=

a) Solvefor z=6,y=1
b) Solve for z =3,y =1
¢) Solve for z =10,y =3

60) Simplify algebraic expression
6+ (—6)+0x — 152+ (=3)+ (((9+ (=8y) + 52))) =

a) Solveforz=2,2=8,y==6
b) Solvefor z=9,x=1,y=7
c) Solveforz=9 ,x =3,y =28

Mathematics: Substitutions Demo - Set 5 16 ® workulum.com


https://www.workulum.com

